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R1: BYE - Win
R1: 2I1(7) - Win
R1:HEARBZ(9) - Win
R1: BER(8) - Win
R1: H##8(12) - Lose

R1: EF1(10) - Lose

R1: B81&(4) - Lose
R1: BE2H(3) - Lose
R1: S28044(6) - Win
R1: BZ=(13) - Win
R1: BREBA(5) - Win
R1: BREBF(11) - Lose
Win

R1: BREEER(15) -

R1: F5&#(14) - Lose

R2: FEE#F(14) - Win
R2: 03 (4) - Win
R2: EA(10) - Win

R2: BERE(2) - Lose

R2: B@fZR(13) - Win

R2: BANIE(9) - Win

R2: FFRHA(8) - Lose
R2: ZItf,(7) - Win

R2: RH{%E(6) - Lose

R2: F41(3) - Lose

R2: E#8(12) - Win

R2: BREEFS(11) - Lose

R2: FEEA(S) - Lose

R2: BEINEE(1) - Lose

R2: BYE - Win
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R3: BRRE(2) - Win
R3: BRIMEE(1) - Lose
R3: BEFEEA(11) - Win
R3: 2 8%(6) - Win
R3: FFEE(14) - Win
R3: E}1Z(4) - Lose
R3: ®FZR(13) - Win
R3: ##1(10) - Lose
R3: BYE - Win
R3: FEARAE(8) - Win
R3: AE4(3) - Lose
R3: BREEHR(15) - Win
R3: ZItA(7) - Lose
- Lose

R3: & EBA(5)

Lose

R3: HHH(12) -

R4: BE4(3) - Win
R4: EHI(10) - Win
R4: BRINER(1) - Lose
R4: EIFBBA(5) - Lose
R4: EBIZ(4) - Win
R4: BREEAS(11) - Win
R4: BREBER(15) - Win
R4: HHEEHI(12) - Win
R4: FSESET(14) - Win
R4: BFR2Z(2) - Lose
R4: EBHJ44(6) - Lose
R4: F5RH5(8) - Lose
R4: BYE - Win

R4: #4815 (9) - Lose

R4: ZItR(7) - Lose

R5: BIRBA(5) - Win
R5: BIEH(3) - Win
R5: 8RR Z(2) - Lose
R5: BREEFS(11) - Win
R5: BRIMER(1) - Lose
R5: H#E(12) - Win
R5: FEES#T(14) - Win
R5: BYE - Win

R5: EEAI(10) - Win

R5: SH4M35(9) - Lose
R5: Bl3Z(4) - Lose
R5: SE424(6) - Lose
R5: BRFEER(15) - Win
R5: ZIM(7) -

Lose

R5: @5 2=(13) - Lose



